id:4 level: O
15:C1 C2 C3C4 Ch
CoC7C8C9C11C12
C13 C14 C15 C16
50: C1 = C2(C1C2)C1 =C3(C1C3)C1 =C4(C1C4)C1 =C5(C1C5)C1 =Cob(C1Co0)
Cl = C7(C1C7)C1 =C11(C1C11)Cl1 = C12(C1C12)C1 = C13(C1C1I3)C1 = C14(C1C14)C2 = C3( C2 C3)
C2 = C4(C2C4)C2 =C5(C2C5)C2 =CH(C2CB6)C2 =C1I5(C2C15)C2 = C16(C2C16)C3 = C4(C 4)
C3 = C5(C3C5)C3 =C6(C3C6) C3_=_C8( C3C8)C3 = C11(C3C11)C3 =C15(C3C15)C4 = C5(C 5)
C4 = C6(CA4C6)C4 =C12(C4C12)C5 =Co6(C5CH)C5 =C9(C5C9)C5 = C13(C5C13)Ch = C16( C5 C16 )
C6_= C14(C6C14)C7 = C8(C7C8)C7 = C9(C7C9)C7 = C11(C7C11)C7 = Cl12(C7C12)C7 = C13(C7C13)
C7_= 14( C7C14)C8 = C9(C8C9)C8 = C11(C8C11)C8B = C15(C8C15)C9 = C13(C9C13)C9 = C16(C9C16)
Cl1 = C12(C11C12)Cl11 = C13(C11C13)C11 = C14(C11C14)C11 = C15(C11C15)C12 = C13(C12C13)C12 = Cl14(C12C14)
C13 = C14(C13C14)C13 = C16(C13Cl16)C15 = Cl16(C15C16)
12: C3C4 C5 C6 C8
9:C1C2C3C4C5 C9Cl11C12C13C14 C15 9:C1C2C7C11 C12
Co C7 C8 C9 C1l6 C13 C14 C15 C16
21:C1 =C2,C1 =C3,C1 =C4,C1 =C5,C1 =Co, 28:C3 =C4,C3 =C5,C3 =C6,C3 =(C8,C3 =Cl11, 21:C1 =C2,C1 =C7,C1 =C11,C1 = C12,C1 = C13,
Cl = C7,C2 = C3 ,C2 =_C4 ,C2 =C5,C2 =C6,C3 =C4, C3 =C15,C4 =(C5,C4 =C6,C4 = C12,C5 = C6,C5 = (9, = C14,C2 = C15,C2 = C16,C7 = C11,C7 = C12,C7 = C13,
C5,C3 =C6,C3 =C8,C4 =C5,C4 =C6,C5 = C6, 5 =C13,C5 = Cl16,C6 = C14,C8 = C9,C8 = C11,C8 = C15, ,C11 = C12 C1 1 =C13,Cl11 = C14 ,C11 = C15, = C13,
C5 =C9,C7 =C8,C7 =(C9,C8 =C9, Cc9 = C13,C9 = Cl6 ,C11 = C12,C11 = C13,C11 = C14,C11 = C15, Cl12 = C14 ,C13 = C14 ,C13 = C16,C15 = Cl6,
Cl12 = C13,C12 = C14,C13 = C14 ,C13 = Cl6,C15 = Clo,
4
id:6 level: 1
15: C3C4 C5C6 C8
id:5 level: 1 C9Cl11C12C13C14 C15 id:7 level: 1
10:C0C1C2C3C4 C16 C18 C19 C20 10:C1 C2 C7 C10 C11
C5Co6 C7C8 C9 50: C3 = C4(C3C4)C3 =C5(C3C5)C3 = C6( C3 C6)C3 = C8(C3C8)C3 =Cl1(C3C11) C12 C13 C14 C15 C16
30: CO = 1)C0 = 0C2)C0 =C3(C0C3)C0O =C4(C0C4)C0O0 =C5(Cc0ocCH) C3 = C15(C3C15)C3 = C18(C3C18)C3 =C19(C3C19)C4 = C5(C4C5)C4 =Cb6(C4C6)C4 = C12(C4C12) 30:C1 = C2(C1C2)C1 =C7(C1C7)C1 =C10(C1C10)C1 =C11(C1C11)C1 =C12(C1C12)
C8(COC8)CO =0C9(CO0CY9)C1 =cC2(C1C2)C1 =cC3(C1C3) C4 = C20(C4C20)C5 = C6(C5C6)C5 = C9(C5C9)C5 =C 1 3(C5C13) C5_=_C 6(C5Cl16)C5 = C18( C5C18) Cl = C13(C1C13)C1 = C14(C1C14)C2 = C10(C2C10)C2 = C15(C2C15)C2 = Cl6(C2C16)C7 = C10(C7C10)
C6(C1C6)C1 =C7(C1C7)C2 =C3(C2C3)C2 =C4(C2cC4) C5 = C20(C5C20)C6 = C14(C6C14)C6 = C19(C6C19)C8 = C9(C8C9)C8 = C11(C8C11)C8 = C15(C8C15) C7 = C11(C7C11)C7 = C12(C7C12)C7 = Cl13(C7C13)C7 = C14(C7C14)C10 = C11(C10C11)C10 = C12(C10C12)
C4(C3C4)C3 =C5(C3C5)C3 =CH(C3C6)C3 =C8(C3C8) C8 = C18(C8C18)C8 = C19(C8C19)C9 = C13(C9C13)C9 = C16(C9C16)C9 = C18(C9C18)C9 =_C20( C9 C20) C10 = C13(C10C13)C10 = C14(C10C14)C10 = C15(C10C15)C10 = C16(C10C16)C11 = C12(Cl11C12)C11 = C13(C11C13)
C6(C5C6)C5 =C9(C5C9)C7 =C8(C7C8)C7 =C9(C7C9) Cl1 = C12(C11C12)Cl11 = C13(C11C13)C11 = C14(C11C14)C11 = C15(C11C15)C11 = C18(C11C18)C11 = C19(C11C19) Cl1 = Cl14(C11C14)Cl11 = C15(C11C15)C12 = C13(C12C13)C12 = C14(C12C14)C13 = C14(C13C14)C13 = C16(C13 C16)
C8 = C9(C8(C9) Cl12 = C13(C12C13)C12 = C14(C12C14)C12 = C20(C12C20)C13 = C14(C13C14)C13 = C16(C13C16)C13 = C18(C13C18) C15 = C16(C15 C16)
C13 = C20(C13C20)Cl14 = C19(C14C19)C15 = C16(C15C16)Cl15 = C18( C15C18)C15 = C19( C15C19)Cl6 = C18(C16 C18)
C16 = C20(C16 C20)C18 = C19(C18C19)C18 = C20(C18 C20)
9:C5C6C9C13C14 9:C3C4C8C11C12
C16 C18 C19 C20 C15 C18 C19 C20
21: C5 = C6,C5 = C9,C5 = C13,C5 = C16,C5 = C18, 21:C3 = C4,C3 = C8,C3 = (C11,C3 =C15,C3 = C18,
5 =C20,C6 = C14 ,C6 = C19,C9 = C13,C9 = C16,C9 = C18, C3 = C19,C4 = C12 C4 —_C20 C8 = C11,C8 = C15,C8 = C18,
C9 = C20,C13 = C14,C13 = C16,C13 = C18,C13 = C20,C14 = C19, C8 = C19 C11_ C12 C11_= C15,Cl11 = C18,Cl11 = _C19 ,C12 = C20,
Clo = C18 ,Cl6 = C20,C18 = C19,C18 = C20, Cl5 = C18,C15 = C19,C18 = C19,C18 = C20,
id:8 level: 2 id:9 level: 2
10:C5C6 C9C13 C14 10:C3C4C8C11C12
C16 C18 C19 C20 C21 C15C17 C18 C19 C20
30: C5 = C5C6)C5 = C9(C5C9)C5 =C13(C5C13)C5 = Cl16(C5C16)C5 = C18(C>5 C18 ) 30: C3 = C4(C3C4)C3 =C8(C3C8)C3 =C11(C3C11)C3 =C15(C3C15)C3 =C C17(C3 C17 )
C5 = C20(C5 C20 ) C5 = C21(C5C21)C6 = C14(C6C14)C6 = C19(C6C19)Co = C21(C06C21)C9 = 9C13) C3 = Cl18(C3C18)C3 =C19(C3C19)C4 = C12(C4C12)C4 = C17(C4C17)C4 = C20(cCc4 cz0) C8 8C11)
C9 = C16(C9 C16) 8(C9C18)C9 = C20(C9C20)C9 = (C21(C9cC21)C13_ 14( C13 C14 ) C13 C13 C16) C8 = C15(C8C15)C8 = C17(C8C17)C8 = C18(C8C18)C8 = C19(C8C19)C11 = C12(C11C12)C1 C1l1 C15)
C13 = C18(C13C18)C1 (C13C20)C13 = C21(C13C21)C14 = C19(C14 C19) = C21(C14 C21) ~C18(C16 C18) Cll = C17(C11C17)C11 = C18(C11C18)C11 = C19(C11C19)C12 = C17(C12C17)C12 = C20(C12 C2 C17(C15C17)
Cle = C20(C16 C20)C1 (C1l6 C21)C18 = C19(C18C19)C18 = C20(C18 C20) ~C21(C18C21) ~C21(C19C21) Cl15 = C18(C15C18)C15 = C19(C15C19)C17 = C18(C17C18)C17 = C19(C17C19)C17 = C20(C17 C20 ~C19(C18C19)
C20 = C21(C20C21) C18 = C20(C18 C20)




